CAST IRON PUMP/MOTOR
MODEL 350/365 AlVIO

HYDRAULTICS

MODEL | GEAR | GEAR | GEAR DISPLACEMENT | MAX MAX WEIGHT
WIDTH | WIDTH | HOUSING | (cc/rev) PRESSURE | SPEED | (KG.)
(INCH) | (NO.) WIDETH (BAR) (RPM)

1/2 05 1.00” 20.80 240 2400 22.70
3/4" 07 1.25” 31.20 240 2400 22.70
1 10 1.50" 41.70 240 2400 22.70
1-1/4" |12 1.75” 52.10 240 2400 23.40

350 | 1-1/2 15 2.00” 62.60 240 2400 24.10
1-3/4" |17 2.25" 73.00 220 2400 24.80
2" 20 2.50” 83.50 200 2400 25.50
2-1/4" | 22 2.75" 94.00 190 2400 26.20
2-1/2" | 25 3.00” 104.40 170 2400 26.90

MODEL | GEAR | GEAR | GEAR DISPLACEMENT | MAX MAX WEIGHT
WIDTH | WIDTH | HOUSING | (cc/rev) PRESSURE | SPEED | (KG.)
(INCH) | (NO.) WIDETH (BAR) (RPM)

3/4” 07 1.25” 44.00 240 2400 24.90
1 10 1.50" 59.00 240 2400 24.90
1-1/4" |12 1.75” 73.50 240 2400 26.00
1-1/2" |15 2.00” 88.00 240 2400 27.10

365 1-3/4" |17 2.25" 102.00 240 2400 28.20
2" 20 2.50” 118.00 240 2400 29.30
2-1/4" | 22 2.75" 132.60 220 2400 30.40
2-1/2" | 25 3.00” 147.00 200 2400 31.50

For further special requests, please consult our technical/commercial service. The company reserves the right to change the dimension without prior notice.



QUICK REFERENCE
EXPLODED VIEW @-O

REFERENCE
CHART

FOR VARIOUS
OPTIONS
AVAILABLE

REFER TO QUICK | |

o @
THRUST \\ .
PLATE }
SEALS {
N

MOTOR

For further special requests, please consult our technical/commercial service. The company reserves the right to change the dimension without prior notice



AlIVIO

HYDRAULICS

No. Description
A Shaft gear set SAE C Key shaft 1-1/4”
Shaft gear set SAE B SPLINE SHAFT 13 Tooth
Shaft gear set SAE C SPLINE SHAFT 14 Tooth

B Match gear (For multiple pump only)

C Gear housing

D Front end cover - SAEB2bolt4”
- SAE B 6 bolt 4”
- SAE C4bolt5”

E Port end cover

F Bearing carrier (For multiple pump only)

G Thrust plate

H Thrust plate seal

H1 Pump channel seal

H2 Pump back up seal

H3 Motor back up seal

H4 Motor End seal

H5 Motor side seal

I Connecting shaft (For multiple pump only)

J Loose shatft

K1 Outboard bearing

K2 Bush

L Shaft seal

L2 Gasket seal

N Dowel pin

Q Spacer

S Snap ring

V1 Washer

V2 Nut

V3 Stud 5/8”

For further special requests, please consult our technical/commercial service. The company reserves the right to change the dimension without prior notice.



Ordering COde DOUBLE PUMP

TRIPE PUMP (REPEAT)

CODE TYPE 4 - Gear width 350 Series 7 - Dual Bearing carrier
Pump CODE TYPE cclrev cw cew IN ouT
Motor 05 1/2” 20.9 AM MA 2" 1-1/4” 1-1/4”
07 3/4" 31.3 AN NA 27 1-1/4” 1"
10 17 41.8 AP PA 2" 1" 1"
CODE MODEL
12 1-1/4” 52.2 AT TA 1-1/2” 1-1/4” 1-1/4”
350 Series
15 1-1/2” 62.7 AU UA 1-1/2" 1-1/4” 1”
365 Series
17 1-3/4” 731 AV VA 1-1/2" 17 1”
20 2" 83.6 AW WA 1-1/4” 1-1/4” 1-1/4"
CODE 1 - Unit 22 2-1/4" 94.0 AX XA 1-1/4” 1-1/4” 1”
A Single Unit 25 2-1/2" 104.5 AY YA 1-1/4” 17 17
B Double Units AZ ZA 17 17 17
C Triple Units
4 - Gear width 365 Series - - -
8 - Single Bearing carrier
CODE TYPE cclrev cw cow N ouT
CODE 2 - Front end cover "
or 4 443 HB BH 2" 1-1/2”
42 SAE B 4 BOLT (89.8mm) " )
10 ! °9.0 HC CH 2" 1-1/4”
46 SAE B 6 BOLT (89/146mm.) 1-1/4” 73.
12 / 38 HF FH 2 1
78 SAE C 4 BOLT (114.5 mm.) 1/
= 2 885 HL LH 1-1/2” 1-1/2”
97 SAE B 2 BOLT (146.5mm) -3/4”
17 13 1033 HM MH 1-1/2" 1-1/4”
20 2 118.0 HN NH 1-1/2” 1”
22 2-1/4” 132.8 B R
3 - Rear End cover (Single pump) HO OH 1-1/4 1-1/4
25 2-1/2" 1475 - -
cw ccw IN ouT HP PH 1-1/4 1
EC CE 2" 1-1/2” HQ QH 17 1"
CODE 6 - SHAFT TYPE
EF FE 2" 1-1/4" Bl 1B Unport | Unport
o7 SAE C Spline 14T
EG GE 2" 1"
11 SAE C KEY
EH HE 1-1/2” 1-1/2”
25 SAE B Spline 13T
EJ JE 1-1/2” 1-1/4”
EK KE 1-1/2" 1"
EL LE 1-1/4” 1-1/4”
EM ME 1-1/4” 17
EN NE 1" 1"
Rear End cover (Multiple pump)
BI | 1B | Unport ‘ Unport

For further special requests, please consult our technical/commercial service. The company reserves the right to change the dimension without prior notice.



AlIVIO

FRONT END COVER SRS aaa
46 | SAE B 2/4-Bolt 78| SAE C 4-Bolt
[ 688" [174.75] —— o
ST (105w | (1422 |t—— 5.750" [146.05) SQ —] )
D‘aﬂ? & Holes 4.508" [114.50] 5Q ﬁf_gz]
4.69° [11913]50, 2.254° 4 Holes
[57.25] 50" [(12.70) —w| |e—
: [sg 31] 176"
”5 s 37" [9.40] — ] f— =
& . T [T
N 469"
\ [118.13] p— §
50 lﬂ:ﬂ. T
5.000° [127.00] =t -
4.000° [101.60) ' ;
3.998" {10154} L - o B
Pilot Dia. - f
63 [16.00] —»I — 63 [16.00]—»] fe—
97| SAE B 2-Bolt 42] SAE B 4-Bolt
-« GBT — 1.81" 469" 5Q [119.13]
SET IS0 [45.97] - 3536" SO [89.81] 056"
. - 1.768° 14.22
ﬁf.gﬂ a7 E1H:Jle]s 37 [50] —w -—
2 Holes ™ [9.40] —
— T —u
B 4.000" [101.60] g

4,000 [101.60]
3.998" [101.55]
Pilot Dia.

'

63" [16.00]—p

3.998" [101.54]
Pilot Dia.

63'[85] | (L

For further special requests, please consult our technical/commercial service. The company reserves the right to change the dimension without prior notice.



AllVIO
SHAFT PUMP/MOTOR HYDRAULICS

| 7| SAE C spline [11] SAE C Keyed

219 — 219 |
[55.63] Square Key [55.63]

31" x 31" x1.50" o

[7.87 x?_s?xsa.m]\ |

i L
1.391° [35.33]
1.381" [35.08] L —

Full Spline 1.88"
[47.75)

VAN

SAE Involute Spline
14 Teeth - 12/24" Pitch
Flat Root Side Fit
Major Dia: 1.223"-1.228" [31.06-31.19]
Minor Dia: 1.0627" Max [26.99]

o 1.250° [31.75) L]
1.248" [31.70]

25| SAE B Spline

1.31°
[3327)
Full Spline

SAE Involute Spline
13 Teeth - 16/32" Pitch
Flat Root Side Fit
Major Dia: 853" 858" [21.67-21.79]
Minor Dia: .7335" Max [18.63]

i

PUMP/MOTOR FLANGE
T s T e o

0.50 12.7 0.69 17.5 1.50 38.1 5/16"-18 0.94 23.9
0.75 19.1 0.88 22.3 1.88 47.7 3/8"16 0.88 224
1.00 25.4 1.03 26.2 2.0 52.2 3/8"-16 0.88 22.4
1.25 31.8 1.19 30.2 2.31 58.7 7/16"14 1.12 28.4
1.50 38.1 1.41 35.7 2.75 69.9 1/2"13 1.06 26.9
2.00 50.8 1.69 42.9 3.06 77.8 1/2"13 1.06 26.9
2.50 63.5 2.00 50.8 3.50 88.9 1/2"13 1.19 30.2
= c >

D Thread Size

/W E Thread Depth

R0 + T
. B

@ \ 208

-

For further special requests, please consult our technical/commercial service. The company reserves the right to change the dimension without prior notice.



Model 350

: TOP VIEW
Single
\'T
Il
it o
- REAR VIEW
Oouble
—~ inches ' ;mn
JH 05 1 | 2540
= N |k A 195mm -07 104 | 3175
768" 10 112" 38.10
A2 134 | 4445
A5 2 5080
A7 21/4" 57.15
20 212" | 6350
| 89 | | 89
L%zzmrp-lﬁ 1 gsgj'{n 1 t;’li T g'sﬂ;p A-22‘ 234" | 69.85
25 3" | 7620
Triple
i
D i, A 183mm
721
9mm_| e | 89mm__ | s | 89mm__ | s | 89mm Scale 1: 465
3 Uowbe T 350" "omte T 350" Towe ' 3527

For further special requests, please consult our technical/commercial service. The company reserves the right to change the dimension without prior notice.



Model 365

TOP VIEW

{Jouble
= . 212mm
(D A 833"
I see 102mm I see 96mm
268" "7 mhe ' 401 bl 376"

REAR VIEW

inches mm

05
-07 114" 31.75
. -10 . 112" 38.10
12 13/8" 44.45
-5 2" 50.80
[ A7 | 214" 57.15
-20 212" 63.50
22 23/4" 69.85
-25 3" 76.20

Scale 1: 4,88

For further special requests, please consult our technical/commercial service. The company reserves the right to change the dimension without prior notice.

RAULICS




